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1000 call = =2 multiplication division
4 | | Efl| e multiply share
- o4 e |l 5 product group
QUL 1]% times divide
Sl adl lots of divide into
addition subtraction Inverse Z : '813 multiplied by divided by
add subtract ) . .
one two three four five N times table divisible by
plus minus i _ _ @ Q0000000 oo 72| | 90 . X
six seven eight nine ten / Q0000000 o = I groups of share equally
more take away . /N Q0000000
and decrease eleven twelve thirteen @ Q00000009 E 88 | [110 "
total take from fourteen fifteen sixteen > 0 [12]|24[36| 48|60 |96 120
increase reduce seventeen Eighteen 7,3 8 8 8 8
sum fewer nineteen twenty thirty 27 ‘ a6
together forty fifty sixty seventy
— . . _ 4x8=32
eighty ninety hundred 27+46=73 2 4 6 p)
46 +27 =73 8x4=32 5 3 g o 3
73-27=46 32+4=8
73 -46 =27 32:8=4 % % %
3 digits + 3 digits Fraction of a set
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0 DD 3 digits - 3 digits ’ ’ . 6 ?
10 less 10 more 100 less 100 more EV EN 2 digits X 1 digit 5 _ z = 3
3x2=6,6+3=2 ~ -2 8 8 8
and 2 = 6 = 3 SO @ @ 2\ numerator
H _ . _ — ® ®
Rainbow to 10 RAIBOW {00 30 x 2 = 60, 60 + 3 = 20 5 T Associative
and 20 = 60 + 3 5 Law
The order in which the numbers are

The Commutative Law

The Commutative Law says that when you add ‘ : :
. e e 00, of _ o 0,03
or multiply numbers, you get the same answer o0 e — o0 o og

Roman Numerals

o :Aq T E if you swap the numbers round. (2+3)+5 = 2+ (3+5)

S - 0,0, 0 ) (2+3)+5 =10 2+(3+5)=10
0+10 =10 10+ 0 = 10 0+100=100 100+0=100 l{\/ m .0 ©° ®0 ¢ e® M e STm——e n .
1+9=10 9+1=10 10+90=100 90+10=100 T\’; III 6+3=9=3+6 (axb)xc
; ) g - LN, es
: 2 = 1 Es=al oo o000 EEEEEE BEEEE
3+7=10 7+3=10 30+70=100  70+30=100 | |W IO IV oo e (2x3) x4 2x (3x4)
4+6=10 6+4=10 40+60=100 60+40=100 VIT wvv V 4x2=8=2x4 (2x3)x4 = 24 2x(3x4)=24
5+5=10 5+5=10 | | 50450=100 " . 50+50=100 VI y1




Statistics

Solve one-step and
two-step questions
[for example ‘How
many more?’ and
‘How many few-
er?’] using infor-

Walk Bicycle

A Pictogram to Show How the Children in KS2 Travel to School
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Car Bus

Types of Transport

Tram Train Other
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A Bar Chart to Show How Many Pets Y6 Have
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Not Parallel
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Parallel

1 minute = 60 seconds ‘

Fish Rabbit Other
Type of Pet Measurement
% o’clock noon (12pm) midnight (12 am)
‘ 'P 2OP i__£5 l am—morning,
£10 i pm— afternoon/evening
‘ZP 50p ® £I0 i
£20%
. 5p @ £l $£20° £3 and 56p
' ‘ £2 L: £50 >kg 600g
SoE 6m 50cm

Mass

gram (g)
kilogram (kg)

Y/ &

0 &

Capacity

¥ 0

millilitre (ml)
centilitre (cl)
litre (L)

Length
SR

millimetre (mm)
centimetre (cm)
metre (m)
kilometre (km)
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Circle SemiCircle Triangle Square Rectangle Pentagon

8 9 10
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Sides Sides Sides Sides
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Hexagon Heptagon  Octagon Nonagon Decagon

3D Shapes
Mot Perpendicular Perpendicular
' . N
Sphere Prism Cuboid
T I
Cube Cylinder Pyramid Cone
Hanzontal ling
Geometry
Time @
1 day = 24 hours h
1 hour = 60 minutes 1 right angle 2 right angles
H quarter turn 2 quarter turns or half turn
mln 909 1800

3 right angles
3 quarter turns
270°

4 right angles
4 quarter turns or full turn
360°

The distance
around a
figure.
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